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YEAR 11 TASK 2

Mathematics

General Instructions

¢ Reading time — 5 minutes

¢ Working time — 60 minutes

o Write using black or blue pen

e Board-approved calculators may be used

e Show all necessary working in
questions 6 to 14

e Marks may be deducted for careless or
badly arranged work

Total marks — 39
Exam consists of 4 pages.

This paper consists of TWO sections.

Section 1 - Page 2
Questions 1-5 (5 marks)
Attempt Question 1-5

Section Il — Pages 3-4 (34 marks)
Attempt questions 6 to 14



Section | - 5 marks
Attempt questions 1-5

Use the multiple choice answer sheet for question 1-5

1.

Which line could have the equation y = —2x + 4?
(A) (B)

y y

\ /

© (D)

y y

\ /

\ /

If R is the point with co-ordinates (6,0)

Not to scale \

/(4 y=10-x

The area of the shaded rectangle is

(A) 20 (B) 24 (C) 28 (D) 60
If (2,k) lies on the line x + 2y = 8 then the value of k is
(A) 2 (B) 3 © 4 (D) 5
A
In the diagram, AABD is similar to ACBD
D Which of the following is not necessarily true?
(A) AB =BC (B) AD = DC
(C) AB L BC (D) BD 1 AC
B C
A g Inthediagram, AAMB = ABMC = ACMD = ADMA.
M ABCD
(A) is aparallelogram (B) is arectangle
(C) isarhombus (D) cannot be determined
D c

End of Section 1
2



Section Il — Extended Response

Attempt questions 6-14.

Answer each question on a SEPARATE PAGE. Clearly indicate question number.
Each piece of paper must show your name.

All necessary working should be shown in every question.

6. Find the values of x and y in the figure below. (no reasons required)

7.
In the diagram below, find the value of .
(no reasons required)
8. M
Prove that AABC is an isosceles triangle.
D °\A £
F B c G
9. A
B ABCD is a parallelogram with DE = BF
F
a) Show that AAED = ABCF
b) Prove that AF is parallel to CF
E
D c

NN



10.

11.

12.

13.

14.

B Not to scale The diagram shows the points
A(-3,-2), B(~1,4) and C(5,2)

Copy this diagram into your answer
¢ booklet.

a) Find the gradient of AC

b) Point P is the midpoint of AC. Show that the coordinates of P are (1,0).
Mark P on your diagram.

c) Show that the equation of the line perpendicular to AC and passing through
the pointPis2x+y—2=0

d) Show that B liesontheline2x +y—2=20

e) Show that the length of BP is 2v/5 units

f) Point P is the midpoint of BD. Find the coordinates of D

g) Explain why ABCD is a rhombus

h) Find the area of the rhombus ABCD

Show that the line 7x — 4y + 5 = 0 passes through the point of intersection of the
lines 3x — 2y + 3 = 0 and 2x — y + 1 = 0 without finding the point of intersection of
these lines.

Show that the perpendicular distance of the point (2p, —p) from the line
p%+1
|l

4px +3py +5=0is

The sides of a triangle are 2x — 1) cm, (x + 1) cmand (11 — x) cm.
Show that 2% <x< 6%

A In the diagram, ABC is an isosceles triangle where
Not to scale 2ABC = £BCA = 72°,
AB = AC = 1and BC = 2x.

b Angle BCA is bisected by €D and
angle BAC is bisected by AM which is also the
36° perpendicular bisector of BC.

M 36° Copy the diagram in your answer booklet.
By M X c

a) Show that AD = 2x

b) Show that triangles ABC and CBD are similar.

¢) Using (b), find the exact value of x

d) Hence find the exact value of sin 18°

~ End of Exam ~

N R R R R

P NRFRLDN



Towe YR || mamematics Lol bomus
e M-c [ A
L C
Ry 1 b
~ T <
“oc -
N L 4. xtlo iiy-2 2 130
= PR = /YO
, g =I5 /
B 1130 = r-y flr- 2y
Jo+ ly =
Ju 22855
- L= By o
o s il % ?5_} ;,:.75—
2. 2L s %} /
- A& & B
o br = (f-2)
S “4r2 3 (f’*g
. - Gr= 214 Ly
E—— T x4 e
- x=3% v/
b LAk LHAD \/ane?wvlu'v, ansles m:,/,/fg\/
L LABCs L08h [ allerih angly  aeffc)
- L NBL: LAY %’A&Mas /-4,45? i

9a)In N RED andl CFB

B ND = be /oﬂlvn‘é /@44\ ﬂqm/fb{o';fam) /
L 4 i U f /

JE = bF & ;ﬂbén)
L AdE = L Fbe /—vbftmale, —

s

i slr, AYbc)
DAL = Nbc F \/m;/)

( chﬂ

-

b) Aﬂfé ’Z—Afp/m»é“)ﬂ% % @MLM

———% 7;
LCFE 2180 Lopd/a M q'\r/-u:?'///zré’ £7 )
e

/[

_,__éﬂg/c L Chd W, 15y, (/ﬂwé Jum  en doed 4 £2 i
=7 7 =7
s JALF: L &t

/

L C./Mi///‘é \/4(##-.& 51\7("1 art "7“‘/_)




p)
n
]
0. P i
o / \\ Z
/ -
. /
AL
a) My : L_’;’
-4
¥
:_!_ \/
k/-‘i AL
) P (X 2T ;
2 (l, 2
- Cl) M_L‘I < -2- f
s 7% “L(L 1)
V. 7
— _ = =Ly tL
l-ltﬁt,"}z SO 4 rr7haru{ w/
A) L= 2ady-L
o F Ia <h =1 "
* O v
2 A NS
Vb bayg oon LUH-L o)
@) 4f 1= i f40)"
| \//.“'L.)“JQ"
s Jo v
s pJ¥
f} 'K ':_LJ‘.—)‘-L o * Lﬂj
} S ¥ M TR
L= 3 y e A
R/ (} -4) v

a«‘um& ém.al tacl aJ(Ae/ 23

190"/
Aﬂ ! MJ#MMMAC)




CP= Jﬁ-1)+a4J

s l.,-" _ﬂ_

¢ L./S" /

AM’/-L_{‘______M.]\‘!’ 2
(T / J

.:/Jﬂ:o\ # Q'Dw\dsl

N/ JL—LJ.UL/)_)L«L.H)«O whe s ard ns

GRU)x =/23L) ¥34L =0

7&!&ug 3L S

&u& i

P M,_Ag{ E / “4p )‘;-’ﬁ t Jps-p t¥° / P

N

o
o i R !
7L ‘PJ 4: 4}/‘!7:/

/

fr— |
R

e | fpt=3ptty

N e




[3, Since tha guan of Lo fo _shoder sty of o {MWQ

Gre. psrC IL‘\% ﬂéll. ke,
L=l 4 adl P U0 and U-n # 14 >Lh-|
" Y > -x (L > i -
> o Lr < 1}
L> % x < 64
r>2% /

} I[M D=a ¥ laml > kbl ] A Bho b e of xoLK

_ Xilo 2> rd / M LJ/:TQ&;‘!&JMJK*

w?2|

4. o) LCO8=Tp" /wL fam of 0 82)

O =4c é’%»«( o cppertt 3‘41_7@ w4y /
Pz lr / 4¢3 Ln) ’

LOAL> M° [m/_u,,-\ oA N Bac )

oo A0 2n (heln)

D= Ao @1.,1;.4;,4&:_7@%@ ;dgmj)f_

Lk LoDy M d WO

7 { . ﬁms(,/[ Ay, ﬂw fa iy f'M’éa ae e‘;mﬂ

T LA comien.

LB0L: LA (fonia) /

1 _L:) La 60 (&-JL/\M !m{l.a in fum"t/ Adl,/‘kﬂ,530)

,_/44 o

2r . /")—-}L - 2
| [ L Vv
= [~ 21n

Yr' tln ~| =0

Lo o2 b Gl bxn

L x4
B i T T ¢ TLO
N
5 - .
i 3 =i F ¥
N . o ,
v = - Ap
?

LAS= | @MM)

dal IS0 R e ﬁ--—( / @‘!) o e % \/

yon 1§52 szr—J



